
Quiz B: 8/6/14     Name ______________________________ 
 
Assume that Heatdex Inc. has a current stock price of $92 and that its stock price will rise by $10 per share or fall by 
$5 per share for each of the next two years. Assume also that the risk-free interest rate equals 5% per year.  
 
a. What is the value today of a put with a $100 strike price that expires two years from today? 
b. Assume you plan to build a portfolio today that will allow you to achieve the same payoffs as the put in part a. 

What transaction involving bonds would you need to undertake a year from today to rebalance your portfolio if 
Heatdex’s stock price rises a year from today? 

c. Assume you have built the portfolio in part b and that Sweltering’s stock price falls a year from today and falls 
again two years from today. What specific transactions will you undertake two years from today to close out 
your portfolio? What individual and total cash flows will your transactions generate? 


